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M.Com. (I* Semester)
Examination, December 2022

M.Com
PAPER -1V
COST ANALYSIS AND CONTROL
Time Allowed : 3 hours Maximum Marks

Regular/Private : 40/50
Minimum Marks : 14/18

e : W gharfRE & fag quis 50 s €17, @ve ‘a1’ 5,
gve ‘'d'-15 Tg @Us ‘'g'-30 3TF] HT BN |
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Note :  Attempt all the questions. Options are internal.

@ueg-31/ Section-A

(TS U9 )

(Objective Type Questions) S5x1=5
1. H&l Ia 1 997 HIfIT :

Choose the correct answer :

(i) ©Nd @i U IME] & -
(31) e@lhA &t (&) YHIY T@ih hi
(9) dHraadiedsl (g9 ST« gt
Cost accounting is a branch of —
(a) Accounting (b) Standard costing
(¢) Marginal costing (d) Allof the above
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(i) i @ = sEmr Bl ol @ 4 wiafg

(31 T AY-EIH G

(3) == @l

(V) =99fts ©@ a1Y-'1H @

(T) SW=sa 94 333(3 Tl

Abnormal losses of process account are
transferred to which account —

(@)  General profit and loss account

(b)  Trading account

(¢)  Trading and profit and losses account
(d) None ofthe above

(iii) fa1 ¥ 6,00,000, vRadsie T T 3,60,000

ST HTA SFAr ~ === Gl _
(37) 20% (F) 40%
(%) 60% (2 80%

Sales ¥ 6.00.000, variable cost ¥ 3,60,000,
profit volume ratio is —

(a) 20% (b) 40%
(c) 60% (d) 80%

(iv) ﬁtn%fﬁgan@aﬁa—mwﬁwz‘fwm%—
(31) I Fore (F) =R a9
(F4 A=z 7512 () Yt
Which of the following is a Summary of all of

the budgets —
(a)  Production budget

(c) Masterbudget (d) Capital budget
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(v)

(b) Flexible budget

v—f,

3

(w) g™ "
Formula of materia
(a) AQ (SP—-AP)
(c) SP (SQO-A0Q)

| usage variance is—
(b) AP (SQ-AQ)
(d) SQ (SP-AP)

Tus-9 / Section-B
(g T a9 ) ' a0
(Short Answer Type Questions)
W%t@aﬁi‘fﬁ 377q 91 FHFAA = / o
What do you understand by elements 01 COSt-
atgar / OR
--
<ufeerdi 3 g g ANE 7 .
What is meant by absorption of overhead”
e @ 1 greT S|

fine process accounting.
pemer arerar / OR

ey ST & F41 A 22
What is uniform costing?

Fufaeye fag #1 SeEvEed FHaRl!

in the break even point with example.

Expla
. 3rerar / OR

P.T.O.
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T ST Y IR TR HI
Explain the concept of marginal cost.
Feedt frasm # 2
What is budgetary control?
I, Jyar/ OR

. o m faf@q‘

Write the objectives of cost audit.

W IS s
'hat is standard costing?

o 37Yar/ OR
H .-A-, AT fa=1o o ) FY e 2
oW to calculate material cost varian;:e‘7
@ ue-9q
Section-C
(e 3wt wy )

g )

A T ¥ f5f
|

Discuss i
s in brief the di
e
accounting. different methods of cost

) ' AYAT/ O
W\; [ERELE VR cT W‘R” EREEAIE 1
'hat is i Y .
material control? Describe its obj |
' objectives.
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gfaza 7 'a' 17200

g FeoT oAl

1 fafrfa wret of STl
gt © et A1 H
s 3 e wfE ‘y1' 1 280

WWWW‘IH e leRiEdl
Sfen &1 @ i 21 77 FHIfere |

The product of a manufacturing company passes
through two processes Aand B and then 10 finished
stock. It is ascertained that in each process 5% of
total weight put in is lost and 10% is scrap W hich
from processes - A’and *B’realises Z 80 per ton and

%200 per ton respectively :

Process “A Process ‘B’

Materials C onsumend

(in ton)
Cost of materials

in rupees

per ton

anufacturing eXpenses

M

in rupees.
PT.O.
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Prepare process cost account showing the cost of

the output of cach process and the cost per ton.
3rerat / OR

TYH IR a1 I D 39 F 99E §2 39 W

Hferg foogoit fafigu |

What do you mean by term joint product and by

product? Write a brief note on them.

Fs fofmee = e o frefafea aw sues fag

™R

= | fowaz

BICIEIEES

4,00,000 40,000 (1Y)

022 6,00,000 80,000 (&H)

(i) <1 =5 ST

(i) Ffa=e fag

(1) ==

(iv) ¥ 2,00,000 &1 fosh! T ATy

Following figures have been extracted from the
book of Krishaw Ltd :

Year Sales ¥ Profit/Loss ¥
2021 4,00,000 40,000 (Profit)
2022 6.00,000 80,000 (Profit)
Calculate -

(i) P/vRatio
(ii) Break even point
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(iii) Fixed cost (
(iv) Profit carned when sales are Z2.00.000
oyt / OR

AN TTAT ey TAH 50T w1l 37 dl
Afsu | g wfromd AfAT

~ | - N .
Discuss the utility of determining cost—volum
profit relationship. Gyive its limitations. |
TR iR A P A 37 3R] A A ikl
o Ans )
& HHABT |
What is meant by
and advantagces.

I -
cost audit? Explain its concept

w1gar / OR o
At g1 & A 7 80% 7 100% FA=E
‘ - -

TE 4 ‘ |
Prepare a flexible budget for the.* prOfiUCtl(":' .
and 100% activity on the basis of the following

information —

nat 80%

PT.O.
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% 20 per unit

Direct labour
Direct expenses o (210 per unit B

T 40,000 (‘3()‘% hxcd)

Factory Expensces
Administrative expenses 80,000 (70% variable)
\

Ty wma fafy w5 aferen S a8 3HE ey vy
digrafl &1 faa=1 Sifee |

Define standard costing and discuss its advantages

and limitations.

aerar / OR
ELIRCESING] - T 7500
YHITAd AT 1500 Kg.
CIESIECASIRIG < 8,000
EESIECRS % 2,000
UM ShITST -
(i) S o fa=ro
(i) 9t 39 fa=tm
Standard cost |- 7500
Standard quantity 1500 Kg.
Actual Cost < 8,000
Actual price % 2,000
Calculate -

(i) Material price variance
(i1) Material usage varlance

0}»0
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